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Class - IX
MATHEMATICS
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Total No. of Pages :
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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 carry 1 mark each.

1
Simplified value of (25)A

(A) 25 (B)

X (5)% is
3

© 1 (D) 5
An exterior angle of a triangle is 80° and the interior opposite angles are in the ratio 1 : 3.
Measure of each interior opposite angle is :

(A) 30°, 90° (B) 40°, 120° (C) 20°, 60° (D) 30°, 60°

In AABC, if AB > BC then :
(A) ZC< LA (B) «ZC=ZA (C) «4ZC>ZA (D) ZA=/B

If length of the largest side of a triangle is 12 cm then other two sides can be :
(A) 48cm,82cm (B) 32cm,78cm (C) 64 cm,28cm (D) 7.6 cm, 34 cm

In figure 1, value of x is :

Figure 1
50° (B) 40° (C) 60°
A triangle can have :

(A) Two right angles Two obtuse angles
(C) All angles more than 60° Two acute angles

In figure 2, ZPQR is :

Figure 2

(A) 40°
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Degree of which of the following polynomial is zero :

(A) x (B) 15 Q) vy

What is remainder when x> —2x%+x+1 is divided by (x—1) ?
(A) 0 B) -1 © +1

1
The coefficient of x2 in (3x + x°) [x + ;] is :

(A) 3 (B) 1 © 4

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each.
In a AABC, if AB=AC, ZA=100° then find ZB and ZC.

In figure 3, find the value of ZQRP when QP||RT.

P

67°

R
Figure 3

In figure 4, find the value of ZCDE.

A
70°

30°
B

Figure 4
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If the angles of a triangle are in the ratio 1 : 2 : 3 then find the measure of angles.

1 3
If x=2-— \/g, then find the value of [X - ;] .

OR

1 1
. . .. +
Find the simplified value of 5-253  5+203°

xa(b—c)
Show that T —a | =2
ow a xb(a )

Factorise : (12x2—7x+1).

In figure 5, if ABC and ABD are equilateral triangles then find the co-ordinates of C and D.

D

vy
Figure 5

940121 - B1




SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

1 1
+ =-14+ 3
Show that 1+H >+ /3 .

OR

2 -1
If g — =a + b2 then find value of a and b.

2 1
If x =3 — 22 then find the value of [x - x_ZJ

Using suitable identity evaluate (—32)3 + (18)3 + (14)°.
OR
Simplify : (a+b+c)2+(@—b+c)?+(a+b—c)2

1 1
If [x + —] =9, then find the value of x>+ -
X X

Factorize : 4 (x2+1)2+13(x2+1)—12.

Find the area of a triangular park, two sides of which are 18 cm and 10 cm and the perimeter
is 42 cm.

Plot the points A (5, 5) and B (—5, 5) in cartesian plane. Join AB, OA and OB. Name the
figure so obtained.

ABC is a triangle right angled at A. AL is drawn perpendicular to BC. Show that
ZBAL= ZACB.

In AABC, £B=35°, ZC=65° and bisector of ZA meets BC at point D. Find ZADB and
ZADC.
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In figure 6, prove that I || m.

Figure 6

OR
In figure 7, prove that AB||EF.

A B
) 65°

D

Figure 7

SECTION - ‘D’
Question numbers 29 to 34 carry 4 marks each.
If x>—3x+2 is a factor of x*—ax?+b then find a and b.
OR
Factorize : ax?+ (4a%—3b)x — 12ab.

Prove that : x3+13+23—3xyz=— (x+y+2) [(x—y)*+ (y—2)%>+ (z—x)?].

Represent /9.3 on number line.
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32. In figure 8, if ZAEO= ZCDO and AB=CB, prove that AABD = ACBE.

B

Figure 8

In figure 9, ABC is an isosceles triangle in which AB=AC. Side BA is produced to D such
that AD=AB. Show that ZBCD is a right triangle.

D

Figure 9

Show that perimeter of triangle is greater than the sum of it's three medians.
OR
In figure 10, S is any point in its interior of APQR. Show that SQ+SR < PQ +PR.

P

Figure 10
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©usg - A
U9 WEAT 1 | 10 9k Uk U9 1 3k T gl

(25)/5 x (5)/ w1 i 7 2

(A) 25 (B) 3 € 1 (D) 5

e FAS 1 SIfgshior 80° AT 37d: W@ VIl o1 ST 1: 3 § 37d: TE HIvi ! AT T :
(A) 30° 90° (B)  40° 120° (C)  20° 60° (D) 30° 60°

AABC ¥ 3f¢ AB>BC® @ :
(A) £ZC< ZA (B) £C=/ZA (C) £C> ZA (D) ZA=/B

I Tk P FT qad el ST &t a1 12 AH. @ ST S A hl A9 &l Tkl ©
(A) 489, 829 (B) 329, 7.8 §Hl (C) 6.4 4Hl, 28 Ht (D) 7.6 9, 3.4 §HI

(A) Tl GHRI
(C) Gsft =TT 60° © AferR

AT - 2H, LPQR &I AT T :

75°
P

Q

(A) 40°
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Frefafaa o frg 9g9c =1 o I3 7 -

(A) x (B) 15 © v

B=224x+1FH (x—1) F 9 T W I9RA ¥ :
(A) 0 B -1 ©

(Bx+x3) [x+%]ﬁx27ﬂW%:
(A) 3 B) 1 © 4
Qg - d

U9 WEAT 11 § 18 Tk Uk U9 2 3Tkl T T
& st ABC H, 9fc AB=AC, ZA=100°&1 @ £Bd £C F1d HifeT |

3fd - 3, afs QP||RT &1 @ £ QRP &I A I HIfT |
P

64°

67°

R
Hfd - 3

3Tfd - 4 H, £ CDE %1 M H1d il |

A
70°
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14. IS T TS o IV 1 STIAM 1:2: 3 B A HI01 ! AT Fd RITSIC |

13
15. ?T&‘{x=2—\/§‘@?ﬁ[x—;] %1 A T4 I |

AT

1 1
+
5—23 5+2ﬁws“iiifmﬁwl .

~

17. (12x2—7x+1) & TOEETE HIT |

18. 3T&fd -5 ¥, afs AABC e AABD 9HaTg 3y & ot fog C @ D & fadwnias 9 sifsmw
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areram

V2 -1

ﬁ=a+b\/§ 31 1 a AT b ST A F1d HIfaC |

afe

Elfq’x=3—2x/§§?ﬁ[x2 —xiz]aﬂuﬂamaﬁﬁw

ST HAHHRT T TAT Heh (—32)3 + (18)3 + (14)3 1 A H@ hifeIT |
Jrrar
WA HINT : (a+b+c)2+(@-b+c)2+(@+b—c).

aﬁ[x+l]=9gﬁaﬁx3+xi3wmamaﬁﬁm

X

4 (x2+1)2+13(x2+1) — 12 &% UHETS HIT |

Teh TITTRR U1k 1 <1 y[otiedl &1 &ag 18 AT, e 10 |41, €1 Al ureh a0t ufeAm 42 QAL @1
Tk T QH A1 HITSIT |

fSig A (5,5) a4 B (=5, 5) &l FIdIg ad | 3eif@d &g | fog A d2n B &l qa foig ¥ foam | e
JTeRid w1 M fafEw |

T IS ABC H 39 A T A1 10 HH&I0 €| AL 451 BC R @4 ¢ | f9g #IfT £ BAL= £ ACB.

T# AABC H, /B=35°, /C=65°%, dd1 /A % GHGYS® =1 BC ¥ foig D W fuerar 1
/ ADB @1 £ ADC J1d Sifs |
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ATFT - 68, Forg HINT 6 1| m.

I
A m
E p
80° c /.=
B 35D G

457
F

T - 6

AT

stepfa - 7 #, fag ifSie f& ABJ[EF.

A B

<
<

g - q
U9 HEAT 29 W 34 A Yeeh U9 4 3{ehl T T
T x2—3x +2 TgIE x4 —ax2+ b FT PHGE T Al a T b HT TH A DI |
areran
ax? + (4a2—3b)x —12ab % TUHEE HIT |
1

fag wifsT o - x3+y3+z3—3xyz=5(x+y+z) [(x—y)?>+ 1y —2)>+(z—x)?].

31. /9.3 &I & W@ W fefug sifs )
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3M&fd - 8 ¥, Al L AEO= £ CDO @1 AB=CB, f9g ®ifeiw fF AABD = ACBE.

B

C

Thfd - 8

AMHTd - 9 B, ABC U HHfgang et © fS98 AB=AC | 1 BA fog D 9% 30 TR 9gRE T ¢
f& AD=AB %! <uisd f% £ BCD T& TUHIV |

D

SHfd - 9

fag i i e 1 uftam, faqe 1 wfegetet % am F eifes € 2
rgqar
3T - 10 B, Tk APQR & 3ia: 9 ¥ U foig S¥1 g #ifew fF SQ+SR < PQ+PR.

P

940121 - B1




